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Unit 1 Test — Numbgr Sense and Algebra
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Terminology (10 COM)
1. Match each term or equation in the left column with the bes? definition or description in the right column.

I egree of aterm  _A. A symbol that represents an unknown or unspecified value.

E '4(x+y) =ax+ay B A fixed value.

G ‘équation #Z. Any mathematical calculation combining constants and/or variables using
any valid mathematical operations.

‘B"énstant M. To calculate or compute with the objective of finding the “final answer”
H 4olyn0mial 2. The property used to expand the product of a monomial and a binomial.
C \/éxpression F7 A constant multiplying the variable part of a term.
A '/Gariable &7 A mathematical statement asserting that two expressions are equal.
E éefﬁcient J. An algebraic expression consisting of several terms.
D ‘{V luate ¥ The sum of the exponents of the variables of a term.

‘J'_ ike Terms 47 Terms that contain exactly the same variable part.

Modified True/False (3 KU)
Indicate whether the statement is true or false. If false, change the underlined part to make the statement true.

3

2. T/F F The expression “3x” means “a number multiplied by itself 3 times.” Change: xX ‘/
= L mark
= ar A

3. T/F E The expression “x* + x* 7 simplifies to “ x* .” Change:
x-5V

4. T/F F The expression “% ” means “a number reduced by 5.” Change:

Multiple Choice (3 KU)
Identify the choice that best completes the statement or answers the question.

5. d hich expression represents the perimeter of the rectangle shown at the right?
(a) 22x)+(3y)  (b) 10x © (2x+3y)(2x+3y) @lx+6y

6. C ‘/Which expression represents the area of the rectangle shown at the right? +
(@) (2x+3y)’ M) (2x)(3y) @6xy (d) 6x° 3y

. dh

In which pair are the expressions equivalent?

(a) —5a” and (-5a)’ (b) 2(5a)2 and 5(2a)°  (c) 104* and 6m 5a2 and (~5a)’
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TIPS | COM

-0 |-O |-O |




Full Solutions (10 COM in addition to process marks)
8. Evaluate. (8 KU)

(a) —6(3* -5°)-4(7-15) (b) —8a*—4ab’ ,if a= and b——5
_ (BEDMAS not distributive prpc:perty!) =-% ( ..L) |+( “LB (. 5 ) -
e E) D)
- ~GEIG)- 4L b gRvaly
=% -a56 v~ 3@. o

- 600 _ -Co8*1 152
=-160 v 3b 3 - 36, a7

9. Simplify. (17 KU)

() 2x° +7y—12+8y+5-6x" (b) (2x°)(7y)(8y)(-6x")
= 250" + Ty 8y -1+ 5 = RADEN-O(FNCUYX)
= -7 15y -7 =-G7R Y

v /
v’ _ me\/.a/

(©) 724" (15 )(Zns) (d)4 3x? 2%@
(32') “la'x —Za:. 3. Hox

7a" - 152N n®) = )12x-307 -Bx + 152

3("3%/ = Qx?+7Tx
AN
q
 B(X) -2

10. The area of the large rectangle is4x* + 9x + 2 . Write a fully simplified algebraic expression for the area
of the shaded region. (5 APP)

ASLaAeA = A 'ﬂq - ASmill

= #x%19x + R 47&*3) v
-+§ Mx:& *((-oi’fh 3)”
4 " +Ax -4 +2A-3

24+5%-)
3“ '} /U APP | TIPS | COM
-0[-0]|-0]-0

wh




11. A box with a volume of 60?()/2 has dimensions as shown below. If the height of the box is 4x and the
length of the box is 5y, what is the width, w of the box? (2 TIPS)

Ve RGNS SER
o‘. V = ROxyw = ‘;:(syxg)xyyy A

-]
S = =
Oxyw 60 gcy cOxy?

[ ]
"w:60“1-3~// 5y
20xy/™
12. Homeforms collected money for Central Peel’s Terry Fox Fundraiser. Ms.K’s class collection envelope
had only nickels, dimes, and quarters. The number of quarters was twice the number of dimes and the

(a) Using one variable, write an algebraic expression that represents thg number of coins. Where n
represents the number of nickels. (3TIPS) /
n—>4 o-fmcke.\sJ In>S#n afohmes) R(3n) = bn —)#:Puar‘fers
%
total & oF coing = N+ 3In +bn = 10N
v v
(b) Write an f%@braic expreyon that represer‘lyhe value of these coins. (3TIPS)

0:05n + 0.10(3n) + 0.25(6n)
= 0.05n +0.3n ¢ 1.5n =), g5 n

(¢) How much money did Ms. K’s class raise if the envelope had four nickels? (2 TIPS)

n =y
1.85n = |85V

=714
Ms. K's class raised 97.40.

13. Lucie does babysitting for two families. She earns $15 for the evening, plus $5 for every hour she is
there, when she babysits for her neighbour. When she babysits for her Aunt, Lucie gets paid $10 an

(a) Write an expression that represents Lucie’s earnings when she babysits for each family.(3 APP)

Neighbour: 15+§t or St€+(5 Amt Ot
v v + >+ of hours worked

(b) Over the weekend, Lucie does 2.5 hours of babysitting for her Aunt on Saturday and 1'hour for
. Use your expressions above to determine how much Lucie earned in

total over the weekend. (2 APP
Tota( amount cameﬂi

= ‘06‘2'5) + 5+ 5(‘) v’ KU | APP | TIPS | COM
= a5+/5+ 0 1-0|-01-0
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14. The dimensions of a triangle are given in the diagram to the right.

(a) Find a simplified expression for the perimeter of the triangle.(2 APP)

P=5x++ 2t At Yx o~

= [0Ox+3d — Sx+1
4x
(b) Find a simplified expression for the area of the triangle. (2 APP)
_bh t iy g[zd_%i}_)]
A A S 1 -
= 4« XA ) x+2
A
= Qx(xAR) = R +hhx v
(c) Repeat parts a) and b) if the dimensions of the triangle are quadrupled.(2APP)
Perimeter Area
h
LY A A= b
= 20xt4 14248 + (bx s T S
= 4O0x+ |A v - L 2 =
= 8(4x)(xA) N v
= BAx(X+R) = 2R+ 6

(d) Does this quadruple the perimeter? Justify your answer. (2 TIPS)

C ~ perimet
‘f(ldou—%) Egtav?nde?n 14

merev

= 9‘()7(4-[’1/ fa‘uineﬂ‘ ' [%c»

B}l 1uadm'91m3 .H‘Q' Pef'hmdfrfowﬂd In I"f(q)/ we
ol;‘l‘afr) the peﬂmel—er calcalated in 4 c). Theref
lhe side length ALSO quadruples the Pen'mcfef .

(e) Does this quadruple the area? Justify your answer. (2 TIPS)
/%QN avea okaived 11 §b)
(R -\-q-x)
"V

0/?)

= Fxtlbox / 1S NOT egual to-the area Found

q,uadmplt

o the side
= 32+ b4x );’m ‘lz“"d"‘l’”"ﬂ‘*/ Side lergt,

W
area obl-wped he. area.
n e s |16

fﬁﬁi?«”&%ﬁm in 14b)

W‘ﬁpb‘ng

Quadrupling the area calculded in Z(“”
i |4y,
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